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T1 mérés: 2 3 4 5 6 8 9 1 1 12 13 S +-] + S % osztalyzat
NEPTUN-kéd zh zh k| zh jk|zh jk|]zh | zh  jk ] zh jk | zh k| zh zh jk | zh jk|zh j
1.|BC6D5K 25 22 19130 15|28 18| 22 26 20| 27 17 | 24 19| 27 30 19|23 16| 26 528 0 30 | 558 |93,0%] 5 (jeles)
1.[MCEWTV 25 25 19[19 15]20 18| 24 28 20|30 17 [ 28 19| 27 29 19 26 16 | 27 526 0 0 | 526 [87,7%]| 5 (jeles)
2.|R5YP7H 30 23 19 (17 14120 17| 18 22 2030 19 [ 25 16| 17 16 19 [ 25 20| 25 489 0 0 | 489 [81,5% 4 (j6)
2. |EZZ3WX 29 27 19115 1420 17| 21 24 20|28 19 |24 16| 26 26 19124 20| 29 514 0 0 514 |85,7% 4 (j6)
3.[XOHMDO 23 22 16|14 15|18 19| 24 22 20|17 19|24 18] 20 12 18 | 28 19| 27 466 0 0 466 [(77,7% 4 (j6)
3.|MF8HPR 26 24 16|27 15119 19| 25 25 20|23 19 (27 18] 29 24 18 | 27 19| 26 516 0 | 50 | 566 |94,3%| 5 (jeles)
4.|BO9RYL1 24 27 19 [ 17 20|25 19| 25 25 19125 19 [ 28 20| 22 22 19128 19| 30 530 0 | 50 | 580 |96,7%]| 5 (jeles)
4.|CUUUSO 27 29 19115 20|26 19| 30 25 19125 19| 28 20| 22 27 19124 19 ] 30 540 0 | 20 | 560 [93,3%]| 5 (jeles)
5.[LHKCEE atlag 12 19 18|21 18|25 19| 18 24 1922 17 | 25 17| 16 19 19|26 19| 28 466 0 0 466 [(77,7% 4 (jo)
mérés 8
pétmérés | 16
.|0ODOU83 atlag 10 16 18|14 18 (22 19| 17 15 19 (18 17 [ 22 17| 16 10 19|15 19| 14 399 40 | 439 [73,2%]| 3 (kdzepes)
mérés 2 19
pétmérés 28 19
.|DP2UQJ atlag 24 22 10|26 65|19 19| 22 25 17122 11521 16| 17 17 18 [ 28 13| 23 430 0 | 430 |71,7%]| 3 (kdzepes)
mérés 0 6
potmérés 13 17
.|QCCN7M atlag 17 125 11185 6517 19| 14 23 17121 115(22 16| 17 14 18 [ 22 13| 23 376 0 | 376 |62,7%]| 3 (kozepes)
mérés 11 101] 0 0 6
potmérés 14 12117 13 17
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T2 mérés: 2 3 4 5 6 7 8 9 10 11 12 13 S +-] + S % osztalyzat
NEPTUN-ked Zh  jk | zh Jk | zh  jk | zh jk | zh jk | zh Jk | zh jk | zh jk | zh  jk | zn  Jk | zh jk | zh K
1.1G0Z263Z 30 19124 19|22 18|24 18 (30 19|30 20|25 20|30 20(24 19|30 20|29 20|29 15| 554 0 0 554 | 92,3% | 5 (jeles)
1.|S1SSTF 24 19123 19|17 18|21 18|13 19|30 20|28 20|30 20|16 19|25 20|21 20|28 15| 503 0 0 | 503 | 83,8% 4 (j6)
2.|DJTXYG 28 15|25 18| 25 19|27 18|30 18|30 18 (30 20|30 18] 29 20|30 20|28 19| 30 19| 564 0 0 | 564 [ 94,0% | 5 (jeles)
2. [W9FXR3 19 15|22 18|28 19|28 18|30 18|30 1829 20|26 18|19 20|28 20|28 1930 19539 ]| 0 0 | 539 [ 89,8% | 5 (jeles)
3.|HSX7SA 23 19|14 17|24 18|26 18|25 11|27 18 [ 18 19|21 19|24 20| 26 20|29 17| 30 16 | 499 0 0 499 | 83,2% 4 (j6)
3.|ZE8CYH 25 19|26 17|24 18|21 18|28 11|29 18|18 19|24 19|28 20|18 20|27 17|29 16 ] 509 | O 0 | 509 | 84,8% 4 (j6)
3.|AVYR47 26 19|23 17|26 18|25 18|27 11130 18|28 19|30 19|28 20|27 20|29 17| 30 16| 541 0 | 60 | 601 |100,2%| 5 (jeles)
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